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1) Law of large numbers - Tossing Coins (pages 284-288): “What is the probability of Heads?” -

STEP I: Clearly describe a process using your graphing calculator to simulate tossing a coin,
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STEP 2: Complete the following simu[ations-

(0 1@1) Toss a coin 10 times and regord your tosses (e.g. HTTHT...).
WY The % heads was 2 @ What was the longest streak of heads? _ 2
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2) Toss a coin 25 times and record. your tosses (e.g. HTTHT...).
The % heads was “( 2 = What was the longest streak of heads? __4
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3} Toss a coin 100 times and record your tosses (e.g. HTTHT...).
The % heads was 2490 SDQ What was the longest streak of heads? j_
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STEP 3: Conclusions:
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2) Simulations — NASCAR Cards and Cereal Boxes (page 291):

STEP 1: Clearly describe a simulation process using your graphing calculator to answer:
QUESTION: What is the probability that it will take 23 or more boxes of cereal to get a full set of 5
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STEP 2: Complete the simulation 20 times. Hint: circle winning cards & count number of cereal boxes.
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STEP 3: Create a graph of your results. o'“ Lo
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STEP 3: Clearly explain your conclusion.
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